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Choose the correct answer and write it on the answer sheet on page 2 
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2. The expansion of   )43)(52( +− xx  is 

 a) 2076 2 −− xx     b)  2076 2 −+ xx    

 c) 2076 2 ++ xx                       d)  2076 2 +− xx  

 

 

 

3. The factorization of    4133 2 +− xx     is 

 a)   )4)(1( −+ xx     b) )4)(13( −− xx      

 c)   )4)(13( +− xx     d)  )4)(3( −− xx  

 

 

4. The solutions equation   03 2 =+ xx       are 

 a)   3,1 −=x     b)  
3
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6. The simplification of  
52
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7. The Solutions of  the equation   0572 =+− xx    are  

 a)   
2

297 ±−
=x    b)  

2

297 ±
=x    

 c)   
2

697 ±−
=x    d)  

2

697 ±
=x  

 

 

 

8. From the Venn diagram,  =∩∪ CBA )(  

 a)   }d,n,e,b,h,a{     b) }d,i,e,b{      

 c)   }d,i,e{     d)  }n,i,h,b{   

 

 

 

 

 

9. If }7,4,2{=A , }9,8,5,4,3{=B  and }10,9,8,7,6,5,4,3,2,1{=U , then =′∪ )( BA  

 a)   }4{      b) }7,4,3,2{      

 c)   φ      d)  }10,6,1{  

 

 

10. If   53)( −= xxf  and 4)( 2 += xxg   then =))3(( fg    

 a) 34       b)  20     

 c)  12      d)   25  
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11. If   47)( += xxf ,  then  )(1 xf −−−−     is 

 a)   47 −− x     b)   
4

1

7

1
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 c)  4
7

1
−− x     d)   

7

4−x
 

 

 

12. The function  3)( xxf =     is  

 a)   an odd function only   b)   an even function only     

 c)  both an even and odd functions d)   neither an even nor an odd function 

 

 

13. If   8)( += xxf  and  xxxg 5)( 2 −=    then   =+ )2()2( gf    

 a)  6−      b) 10 

  c) 4     d) 16 

 

 

14. If   2)7(log
5

=+x    then  ====x  

 a)   18      b) 3    

 c)   4      d)  5   

 

 

15. Solve for  x:     3)36(6 −= xx   

 a)   2=x      b)  6=x   

 c)   3=x      d)   3−=x  

 

 

16. The simplification of  24log12log2log5 −+     using the rules of  logarithm gives 

 a)   33log      b)   5log     

 c)  
16

1
log      d)   16log  
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 a)   5,2 == mw     b)  2,5 == mw      

 c)   9,2 == mw     d)   2,2 == mw  
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21. If   102)( 43 +−= x
exxf      then  ====′′′′ )(xf  

 a) x
ex

32 43 −     b)  10
42 +− x
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22. If   
3 2)( xxf = ,  then  =′ )(xf     

 a)   3/1

2
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2
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23. The gradient (slope) of  the tangent line to the curve   383 2 +−= xxy   when   2=x    is 

 a)   4      b)  12     

 c)  2      d)  1−  

 

 

24. The function  742 2 +−−= xxy    has a  maximum at the point 

 a) )9,1( −−     b)  )9,1(−   

 c)  )9,1( −      d)   )9,1(  

 

 

 

25. The cost function of a company is given by 2508)( 2 +−= xxxC , where x is the number of 

 items produced. The minimum cost for  C  is  when =x  

 a) 10     b)  2    

 c)  250      d)   4  

 

 

 

26. ∫ =−+ dxex x )8( 73   

 a) xex 62 73 +     b)  Cx
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 c)  Cxex
x +−+ 874    d)   Cxex

x +−+ 83 84  
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27. =+∫
2

0

)32( dxx   

 a) 10      b)  12    

 c)  5      d)   3  

 

 

28. The particular solution of the differential equation  14)( 2 +−=′ xxxf  at  (0, 0) is  

 a)   143
3

)( 2
3
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xf   b)  42)( −= xxf   

      c)   144)( 23 ++−= xxxxf   d)   xx
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29. ∫ =
+

dx
x 5

1
 

 a) 5ln +x     b)  Cx ++ 5lnln    

 c)  Cx ++ 5ln     d)   Cx +− 5lnln  

 

 

 

 

30. The  shaded area between the curve 4xy =   and the x-axis from 1=x  to  2=x  is equal  
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